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QUESTION 1

What is the max amount of Orchestrators in Dual-site setup?
A. 2 per Security Group

B. 4 per Security Group

C.2

D. 4

Correct Answer: B

QUESTION 2

What type of license is required for an MHO?
A. The MHO requires a NGTP license.

B. The MHO requires a VSX license.

C. The MHO does not require a license.

D. A license is needed for each attached SGM.

Correct Answer: C

QUESTION 3

Which command should be used to restart Orchestrator service only?
A. orchd restart

B. reboot

C. service orchestrator restart

D. cpstop; cpstart

Correct Answer: A

QUESTION 4
How many orchestrators may Dual-Site include?
A.2or4

B.2
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C.1
D.Only 4

Correct Answer: A

QUESTION 5
In a Maestro Dual Site environment, what is the definition of the term Active Site.

A. The Active Site is the site that is not handling any traffic for the specific SG, but itsconnections are synced to its
SGMs from the MHOs to be ready in the event of a failover.

B. The Active Site is the site where the SMO Master exists.
C. There is no such thing as an active site. In a Dual Site environment, traffic is load balanced.

D. The Active Site is the site currently handling the enforcement on traffic passing for a specific SG. Connections are
synced within the SGMs in the Active Site.

Correct Answer: D

QUESTION 6
What happens if you apply a hotfix using gClish?

A. If you apply a hotfix using gclish, it causes an outage for the entire SG as all members reboot at roughly the same
time.

B. If you apply a hotfix using gclish, each SG members installs the hotfix and reboots after waiting it\\'s turn to do so.

C. Logical groups "A" and "B" are created. Members of group "A" install and reboot first. Then members of group "B"
does the same once reboots have finished with group "A."

D. If you apply a hotfix using gclish, the operation will fail because an outage would occur.

Correct Answer: C

QUESTION 7

What does asg monitor command do?

A. This command does not exist

B. Monitor health status of entire system

C. Monitor traffic on Appliances in Security Group

D. Show real-time cluster status of Appliances in Security Group
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Correct Answer: D

QUESTION 8

What is the Correction Layer mechanism?

A. Ensures asymmetric traffic is handled properly, especially in the case of NAT or VPNSs.

B. The load-balancing mechanism used by the MHO.

C. The MHO\W's distribution algorithm which determines the handling SGM for a given connection.

D. Enforces the access policy on the SGMs and synchronizes the enforcement verdict to other SGMs in the SG.

Correct Answer: A

QUESTION 9

To display processes that are consuming excessive system resources, users should use the__ command.
A. asg perf -v

B. asg stat -v

C. top

D. asg_perf_hogs

Correct Answer: D

QUESTION 10

The command will allow users to update the specified file on all SGMs.
A. g_update_conf_file

B. g_all"

C. sed

D. g_cat

Correct Answer: A

QUESTION 11
Which blade configuration files should be backed up on the SG if upgrading from R80.30SP or earlier?

A. IPS configuration files
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B. fwkern.conf files.
C. VPN configuration files
D. Mobile Access configuration files.

Correct Answer: A

QUESTION 12

Which distribution mode assigns packets to an SGM based solely on the packet destination IP?
A. User mode

B. Manual mode

C. Network mode

D. Auto-topology mode

Correct Answer: C

QUESTION 13

Splitter cannot be used

A. To connect single port on orchestrator to the same Appliance

B. To connect single port on orchestrator to multiple port on external switch
C. To connect single port on Appliance to multiple ports on the orchestrator
D. To connect single port on orchestrator to multiple Appliances

Correct Answer: A

QUESTION 14

What will happen in case of NAT of the traffic passing through Management network?
A. This traffic will not pass correction, since it will be dropped

B. Orchestrator will disable NAT and traffic will pass with no issue

C. Since Management traffic is always going to SMO, it will take a care for Correction Layer and will re-distribute traffic
to other Appliances

D. This traffic will pass with no inspection

Correct Answer: B
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QUESTION 15

Is it possible to define distribution mode per interface?
A. Yes, only for downlink interfaces

B. No, only for the Security Group

C. Yes, only for uplink interfaces

D. Yes, for both uplink and downlink interfaces

Correct Answer: D
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